
 

 

1. Površina kružnog valjka je 180     , a razlika visine i poluprečnika osnove je 3 cm. Izračunati 

zapreminu valjka. 

   P=180π 

   H-r=3→H=r+3 

   V=?  

P=2rπ∙(r+H)                                                         H=r+3    

180 =2rπ∙(r+r+3)                                               H=6+3                          

180=2r∙(2r+3)                                                     H=9 

90=2∙                                                        V=  ∙H∙π 

2∙  +3∙r-90=0                                                     V=36∙9∙π 
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